(With Antenna)
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Getac_BC-03_Gain_FS_1980MHz_Contl1l5_Aux (With Antenna)
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(With Antenna)

Getac_BC-03_Gain_FS 1990MHz_Contl5 Aux
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Getac_BC-03_Gain_FS_2110MHz_Contl1l5_Aux (With Antenna)
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Getac_BC-03_Gain_FS_2132MHz_Contl1l5_Aux (With Antenna)
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N (With Antenna)
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Getac_BC-03_Gain_FS_2155MHz_Contl1l5_Aux (With Antenna)
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Getac_BC-03_Gain_FS_2170MHz_Contl1l5_Aux (With Antenna)
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Getac_BC-03_Gain_FS_2200MHz_Contl1l5_Aux (With Antenna)
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N (With Antenna)
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Getac_BC-03_Gain_FS_2300MHz_Contl1l5_Aux (With Antenna)
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Getac_BC-03_Gain_FS_2400MHz_Contl1l5_Aux (With Antenna)
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Getac_BC-03_Gain_FS_2450MHz_Contl1l5_Aux (With Antenna)
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Getac_BC-03_Gain_FS_2500MHz_Contl1l5_Aux (With Antenna)
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Getac_BC-03_Gain_FS_2515MHz_Contl15_Aux (With Antenna)
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Getac_BC-03_Gain_FS_2535MHz_Contl1l5_Aux (With Antenna)
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Getac_BC-03_Gain_FS_2555MHz_Contl1l5_Aux (With Antenna)
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Getac_BC-03_Gain_FS_2570MHz_Contl1l5_Aux (With Antenna)
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Getac_BC-03_Gain_FS_2575MHz_Contl1l5_Aux (With Antenna)
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Getac_BC-03_Gain_FS_2595MHz_Contl1l5_Aux (With Antenna)
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Getac_BC-03_Gain_FS_2620MHz_Contl1l5_Aux (With Antenna)
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Getac_BC-03_Gain_FS_2630MHz_Contl1l5_Aux (With Antenna)
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Getac_BC-03_Gain_FS_2655MHz_Contl1l5_Aux (With Antenna)

Azimuth = 0.0
Elevation = 0.0
Roll = 0.0

Azimuth = 90.0
Elevation = -90.0 X
Roll = 180.0
LY.
Azimuth = 90.0
Elevation = 0.0 z
Roll = -90.0
I
|
11
|HN
[HA
T
\ I 11
\I X
|

Response (dB) Response (dB)

Response (dB)

-12

-16

-12

-16

-12

-16



Getac_BC-03_Gain_FS_2680MHz_Contl1l5_Aux (With Antenna)
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Getac_BC-03_Gain_FS_2690MHz_Contl1l5_Aux (With Antenna)
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Getac_BC-03_Gain_FS_2700MHz_Contl15_Aux (With Antenna)
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